i =

i

Iy

R EEHELLEA

99 & 12 % 22 p 17:00 > A fegesbifie kA2 09 B 2B % 2 SR T
T R EN LG .%;sﬁ%p;ﬁz«w(é mﬁﬁ@)t’??rvfi?g C 1 g S

4
+ o

99 B & % 2 FHEFTERFAALT !
1. FolpBREGHKTE (127 28217 3P)
i BARELEE S E e
pPREFIREA125 28p %+ 07:0032 12% 30 p 5+ 07:00
WG IRE 4129 28 paet 23:00 % 12 7 30 p st 23:00
i, B> RS 4 E5praE

PRMEZA127 30p %2 07:002 12 3p 521 07:00
t513*3§4*“12”309'%?2300i1 3PS5+ 07:00
2. y - lEREgITE (27 15931.3 g 2 )

1. lﬁiﬁ“*{f@/"'ii* BTt 3 4 E pE AR
pREIRE4A25 15p 5%+ 07.00_—1.2" 18 p % 1+ 07:00
igIRF 421 15 pat 23:00% 27 18 paet 23:00
11, B> 8 4 3 P fg
pRMREA25 18p %+ 07:002 3% 2p %+ 07:00
BBMEAA29 18paet 23:002 3% 2p 5 07:00

EITE A - R AT VAR e B R T TR A (L R
15 A ~FFE 9T h AL&I’QIZF%AQ:‘C)’ E ) R A S ‘#\fﬁv é;g!;ﬂ\&@:.’\
E 1 F%cﬁi”'r'h‘%?“ FRG e b *“Pﬁg'“fp% S

ERB RSP U ER AT S TRER LR S R %
B2y dr #thgpad 8 Ao

ERERUTHM IR E > FHRLp FREFRPFLRHFE - NP R R
-l— ;\'éj_,;\; d: °

EBRAF YOS H0 A F i o B b 2 o BT g (F
N
ﬂ; o

EHP TG E PRI FAWME (TP W) E S P AP T
(#)(5101) 3 é’iﬁﬁ,i‘s (r’ﬂr)(5301) ;Fa (7701) ;3 A k(3 B e)(5701) ;5 18
() (5501) 5 & g & (g #r)(T101) - 2 ¢ ,:‘s (6101): F & & (1) (7T301) 5
745 (7501) Eﬁ?lua,l (E&l? “7)(6301) ; if% P A(7901) s B4 £ 5 (6701) 5 BT
A(T201) 5 i a? < (6501) s MR RHEE x“:‘%‘fﬁ (5550); #» ¥ F L& = F 4z
(5751) 5 %85 M (3530); a2 (3311 ~3312) » EBIMF 2 4o W » 5>
T 2:30 BRER IR i (3T11~3T715) -



